N = 0l & AF & F Al A

A H2gagaal
M ool o LA (ZELNGMNL/XNAL Al
Cel: d=2nRgs S35t (&te: @2
o _ _ bolEN=
2AH -3 - SH2A(SH) - MEAMY - BHES Of] AF2H @L\—FOH Hns2
SE—i==l=g= /PN 32,868,035 23,263,260 9,604,775
2 32,814,000
[= 54,035
SISt o AT (ZELUXANL/XALTA|) 32,854,200 23,250,200 9,604,000
= 32,814,000
[= 40,200
H2nNIge B34435 30,600 32,400 A 1,800
HENIEBAAILEE 16,300 17,900 21,600
201 LEr2HH| 2,000 3,900 A 1,900
01 AFRZt2lH] 2,000 3,900 A 1,900
od=LATNFEAS VS 29 2,000
202 04| 14,300 14,000 300
01 2o 14,300 14,000 300
oOY=2nNsgs AR=Z 14,300
HEAACNIRHAI| ST 29 14,300 14,500 A 200
201 LBt AH| 14,300 14,500 A 200
01 AFR2t2lH] 6,800 6,700 100
OARA A2 6,800
02 222%H| 7,500 7,800 A300
OARA Z2IH L 222 7,500
HEXS of 32,823,600 23,217,800 9,605,800
2 32,814,000
[= 9,600
HAXS LAY =& 9,600 6,800 2,800
201 LEH2HH| 800 1,000 A 200
01 AtR22t2IH] 800 1,000 A 200
OZA XS LALS 800
202 04 8,800 5,800 3,000
01 2oy 8,800 5,800 3,000
OB BN GIHLAY JRFA 8,800
HBXNE X (=10) 32,814,000 23,211,000 9,603,000
2 32,814,000
403 RXIESHSK=0lH 32,814,000 23,211,000 9,603,000
2 32,814,000
01 MXSHMA=2E=X 32,814,000 23,211,000 9,603,000
oOFAXNE X 32,814,000
= 32,814,000
HMSHAH| (S S2A)(IJIEHIIE 13,835 13,060 775
=224 13,835 13,060 775
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